
Ionic 

Metric Conversions 
Name: ___________________ 

Complete the following metric conversions.  Show all work. 

 
21) 1.94 cL = ____________ µL 

 

 

 

 
22) 15 µs = ____________ Ms 

 

 

 

 

31) 19.76 ng = ____________ pg 

 

 

 

 
32) 98 cm = ____________ dm 

 

 

 

23) 14 nL = ____________ L 
 

 

 

 

24) 15 cm = ____________ hm 

 
 

 

 

25) 19 Gg = ____________ mg 

 
 

 

 

26) 78.2 L = ____________ mL 

 

 
 

 

27) 265 dm = ____________ hm 

 

 
 

 

28) 150000 ns = ____________ dks 

 

 

 
 

29) 16 hm = ____________ µm 

 

 

 
 

30) 0.0000045 Mm = ____________ mm 

 

33) 0.000000000045 km = _______ nm 
 

 

 

 

34) 0.5701 µs = ____________ s 

 
 

 

 

35) 67 hg = ____________ dg 

 
 

 

 

36) 42 kL = ____________ GL 

 

 
 

 

37) 106.080 m = ____________ km 

 

 
 

 

38) 0.402 ns = ____________ s 

 

 

 
 

39) 1.47 fm = ____________ pm 

 

 

 
 

40) 18904 g = ____________ cg

 

 
41) A man wishes to purchase $33.72 worth of groceries and has a $50 bill to pay for it.  What bills 

and coins will he receive back as change? 

 



Covalent 

Adv. Chem 

Metric Conversions 
Name: ___________________ 

Complete the following metric conversions.  Show all work. 

 
21) 1.68 Gm = ____________ km 

 

 

 

 
22) 0.00041 ks = ____________ s 

 

 

 

 

23) 1700104 ng = ____________ cg  
 

 

 

 

24) 2.14 Mm = ____________ hm 

 
 

 

 

25) 0.0450 dL = ____________ dkL 

 
 

 

 

26) 742000000 µg = ____________ kg 

 

 
 

 

27) 1.9 pL = ____________ fL 

 

 
 

 

28) 0.0007856 m = ____________cm 

 

 

 
 

29) 670000 hL = ____________ mL 

 

 

 
 

30) 9.045 m = ____________ mm 

 

31) 90801 g = ____________ µg 

 

 

 

 
32) 0.0089 Ms = ____________ ms 

 

 

 

 

33) 2.97 hL = ____________ dkL 
 

 

 

 

34) 21.076 pg = ____________ ng 

 
 

 

 

35) 9700000000 cL = ____________ hL 

 
 

 

 

36) 0.0000008507 g = ____________ pg 

 

 
 

 

37) 832 mg = ____________ Mg 

 

 
 

 

38) 19.26 L = ____________ mL 

 

 

 
 

39) 0.0023 cg = ____________ Gg 

 

 

 
 

40) 0.06023 Gm = ____________ fm 

 

 

41) A woman finds a twenty dollar bill, two ten dollar bills, eight one dollar bills and 5 dimes in her 
purse.  How many nickels would this be equivalent to? 

 

 


